Question 51: Manufacturing overhead



a) consists of all costs other than direct materials.



b) consists of all manufacturing costs other than direct materials.



c) consists of all costs other than direct materials and direct labor.



d) consists of all manufacturing costs other than direct materials and direct labor.

Question 52: The following forecasted sales pertain to Norah Company:

 Month
                                             Sales       

April
                                         $200,000 

May
                                          250,000

June
                                          150,000

July
                                          100,000

Collection pattern:

    60 percent in month of sale

    40 percent in month following the sale

Accounts receivable as of March 31
                                                          $35,000

Finished goods inventory as of March 31 
                                               4,000 units

The company has a selling price of $10 per unit and expects to maintain ending inventories equal to 20 percent of the next month's sales.

How many units are expected to be produced in April?



a)  21,000 units



b) 19,000 units



c)  25,000 units



d) 20,000 units

Question 53: Figure 6-9

The following information is available for Department A for the month of January:

                                                     




     Units                          Cost                                                        

 Work in process, January 1 (70% complete)
                                       10,000

 Direct materials
 
                                                                                              $ 36,000

 Direct labor
 
                                                                                                             18,000

 Manufacturing overhead
 
                                                                                     24,000

 Total work in process, January 1
 
                                                                      $ 78,000

Started in production during January
                                                                                     40,000

Costs added:
 
 

 Direct materials
 
                                                                                              $108,000

 Direct labor
 
                                                                                                              48,000

 Manufacturing overhead
 
                                                                                     60,600

Total costs added during January
 
                                                                      $216,600

Work in process, January 31 (80% complete)
                                                              4,000

Materials are added at the beginning of the process. Round unit costs to two decimal places.

Refer to Figure 6-9. The cost per equivalent unit of production for conversion using the weighted average method is



a) $3.54.



b) $3.06.



c) $2.55.



d) $2.19.

Question 54: Which cost assignment method would likely assign the cost of maintenance for machines in a department that does cutting when the cutting activity is the cost object?



a) driver tracing



b) direct tracing



c) allocation



d) arbitration

Question 55: If functional-based product costing is used, which of the following would be traced directly to the product?

                         a)  setup costs



 b) direct labor



c)  maintenance of machinery



d) inspection costs

Question 56: The static budget variance for materials is $200 F and the budgeted cost for materials is $52,000. If the budgeted volume is 13,000 and the actual volume is 13,500, then the flexible budget variance is



a) $2,200 F.



b) $3,000 F.



d) $2,000 F.



e) $1,800 F.

Question 57: Money Corporation has two divisions, X and Y. Division X sells its product to Division Y. Standard costs for Division X are as follows:

Direct materials
$ 4 per unit

Direct labor
               2 per unit

Variable overhead
   5 per unit

Fixed overhead
   3 per unit

Total
                       $14 per unit

What is the transfer price for Division X based on standard variable cost plus a markup of 25%?

                         a) $11.00



 b) $17.50



c) $13.75



 d) $7.50

Question 58: Given the following graphs, which graph represents fixed costs?
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a) II



b) I



c) III



d) none of the above

Question 59: Regis Corporation uses two types of labor in the production of its product. Mixing and bottling have the following standards:

Labor Type
           Standard Mix            Standard Unit Price                    Standard Cost

Mixing
                         500 hours                    $10.00 per hour                           $5,000

Bottling
              250 hours                      5.00 per hour                            $1,250

Yield
                 4,000 units

During April, the following actual production information was provided:

Labor Type
     Actual Mix

Mixing
                 4,500 hours

Bottling
     3,000 hours

Yield
             36,000 units

What is the labor mix variance?



a) $2,500 (F)



b) $5,000 (U)



c)$5,000 (F)



d) $2,500 (U)

Question 60: During June, 12,000 pounds of materials were purchased at a cost of $8 per pound. If there was an unfavorable direct materials price variance of $6,000 for June, the standard cost per pound must be

                        a) $8.50.



a) $8.00.



c) $7.50.



d) $7.00.

Question 61: The return on investment is computed as

                        a) operating income divided by sales.



b) operating income divided by average operating assets.



c) sales divided by average operating assets.



d) operating asset turnover divided by the operating income margin.

Question 62: JIT manufacturing emphasizes



a) continuous improvement.



b) elimination of waste.



c)reduction of work-in-process inventories.



d) all of the above.

Question 63: If an automobile manufacturer changes from skilled labor to computer-controlled assembly procedures, the past data



a) are useful in predicting future costs.



b) are of little or no value in predicting future costs.



c) are representative of future costs.



d) should be used without adjustments to predict future costs.

